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B H 0.67 1.01 1.14 0.86 1.48 1.02 0.44
5848 (10B114) | (10B50143) | (10B%35453) | (9BF40%Y) | (11B500%3) | (8BE574Y) | (9BF10%Y)
(7K) JEE 0.61 0.94 1.07 0.88 1.46 1.02 0.46
(14B534%)) | (14B523%)) | (14B553%)) | (14B500%)) | (15B52343) | (13851743 | (13853243)
B H 0.67 1.00 1.10 0.87 1.56 0.91 0.44
5858 (10B5124) | (10B505%) | (10B%3553) | (9BF43%Y) | (11B50043) | (9BF05%4)) | (9BF16%))
() JEE 0.69 1.00 1.15 0.87 1.58 0.90 0.41
(14B525%)) | (14B516%)) | (14B546%) | (13B555%)) | (15B51243) | (1351593 | (13B52843)
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B 0.78 1.45 0.69 0.63 1.01
5848 (9BF144Y) | (8B%43%)) | (9B%30%) | (10B%16%)) | (10B506%))
(k) B 0.75 152 0.69 0.62 0.98
(138£38%)) | (13B506%)) | (13BF53%)) | (14BF45%)) | (14B536%))
B 0.74 1.45 0.71 0.58 1.01
5858 (9BF15%Y) | (8B¥45%)) | (9B%30%) | (10B%07%)) | (10B515%))
(K) JEIE 0.71 1.49 0.72 0.60 0.95
(13BF44%3) | (13B510%>) | (13B559%)) | (14BF45%)) | (14B525%))
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DARAKRVIER | #47Km #956Km #944Km | #960Km | #957Km
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BB 0.36 1.35 1.49 0.78 0.1 0.4 0.29 0.14
5848 (9B505%) | (9B508%)) | (9RF2943) | (108F0043) | (9BF00%) | (9BF00%3) | (10B528%3) | (9BF5557)
(7K) JEE 0.38 1.31 1.44 0.76 0.1 0.5 0.29 0.13
(138%155) | (13F5034) | (138F26%3) | (14KF00%3) | (158F00%3) | (156F0043) | (148%25%)) | (14B50057)
BB 0.40 1.29 1.45 0.77 0.1 0.4 0.30 0.13
5A5H (9RF05%3) | (118F2843) | (118F0143) | (9FF084>) | (98F00%43) | (9BF00%3) | (108F214) | (9BF455))
(R) JEE 0.45 1.23 1.46 0.75 0.1 0.5 0.29 0.13
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BB 0.16 0.21 0.37 1.21 0.21 0.22 0.22
5848 (98%50%>) | (108%38%3) | (108%45%>) | (118%05%>) | (9B%30%) | (10B%5074») | (11B510%)
(7K) JEE 0.15 0.21 0.36 1.18 0.18 0.20 0.20
(128%545%>) | (138F324>) | (14F540%3) | (1585004) | (12852743) | (1385024>) | (14B50643)
BB 0.15 0.21 0.31 1.12 0.21 0.22 0.24
5A5H (98%33%) | (10852143) | (108%505%>) | (9H¥45%9») | (9B%14%) | (9BF52%3) | (108%50%)
(R) JEE 0.16 0.21 0.35 1.16 0.21 0.22 0.24
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BB 0.20 0.64 0.54 0.23 0.33 0.34 0.13 0.25
5848 (108%0053) | (8RF4553) | (9BF1043) | (9FF3843) | (9HF2643) | (108538%3) | (10F00%)) | (108F2257)
(7 JEE 0.20 0.64 0.56 0.25 0.35 0.35 0.14 0.25
(15B50047) | (13851353 | (138539%3) | (1485074)) | (138F544)) | (15850953) | (1585003) | (14B546%7)
BB 0.20 0.67 0.58 0.21 0.35 0.34 0.15 0.25
5A5H (108F0053) | (8FF4553) | (9BF2043) | (108503%3) | (9RF4353) | (118513%) | (10KF00%3) | (10BF4857)
() JEE 0.20 0.66 0.57 0.21 0.35 0.34 0.14 0.26
(15850043) | (13B51653) | (138545%3) | (148520%)) | (14B5044)) | (15851653) | (15850053) | (14855753)
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B 0.15 0.18 0.10 0.20 0.16 0.19 0.27
5H4H (10BF444%>) | (108526%3) | (12B5004>) | (9BF574>) | (9B%¥38%) | (11EF344%) | (1185184
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B 0.13 0.19 0.11 0.16 0.17 0.20 0.26
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B 0.18 0.12 0.11 0.13 0.15
5H4H (13855243) | (14850243 | (14B53343) | (14B%584y) | (15RF55%))
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N mg
BREE—REH,D i} 78 7 i) [i]
DAERAKRVERE | 49117Km | $123Km | #3133Km | #J126Km | #105Km

XBER1 NETOER/TOAEEICHA, REKRMEAEEOSBEADERESHL TREL-HERTY.

KEBER2 AEEERFETY—RMA—4ETY,




AR -VOhET RERSRERIESR (BERE)

[E=4U 2 —5@ERE AR LhER)|

T234E5A50 178 IR7E
B 4 Gy/h= U Sv/h (1905 L1 /B8 =490 —~" L/ BERE)

SEMA AW A
BIER | BlIE
a | "m | Tmer | misr | RmRer | omm | g
&5 ®i5 &5 & FT &5

|G 0.08 0.08 0.10 0.37 0.27
5A4H (9B£30%>) | (9EF00%>) | (9BF004>) | (10B500%3) | (10B£074)
(K) JEB 0.07 0.10 0.10 0.35 0.25

(14B%30%) | (15850043) | (156%0043) | (158%004) | (15502%3)
|G 0.08 0.08 0.10 0.40 0.28
5A5H (9R§30%3) | (985004>) | (9B%00%>) | (108%00%3) | (106%0053)
() JEB 0.08 0.09 0.12 0.35 0.26
(14B%30%) | (15850043) | (156%00%3) | (158%004) | (158500%3")
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B 0.23 0.18 0.13 0.44 0.15 0.13 0.28 0.51
584H (9R%F27%3) | (8H§474>) | (10B$40%3) | (108%15%) | (11B%15%) | (11850253) | (11BF56%3) | (128505%)
(K) JEE 0.22 0.19 0.14 0.44 0.14 0.13

(14853143) | (138%5143) | (158%40%) | (15B%16%) | (168%30%3) | (16B%0243)

B 0.22 0.19 0.14 0.40 0.16 0.12 0.28 0.47
5H5H (108§3043) | (9B53%)) | (1185485) | (11852453) | (12B%2043) | (128507%3) | (9BF30%3) | (9RF00%3)
() JEE 0.22 0.18 0.13 0.41 0.17 0.13
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